
以 Bohr 模型導出能量關係式 

Centripetal force = Coulombic attraction 
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代入式 (2) 
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For hydrogen atom:  E =  1810178.2  ( 2

1

n ) J 

From n = 6    n = 1 

En=6 = 2.178 × 1018( 26

1
) J 
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 = 2.118 × 1018 J 
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From n = 1    n = 2 

E = En=2  En=1 =  1810178.2  ( 22
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1
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 = 1810634.1   J 

  = 710216.1   m = 9106.121   m = 121.6 nm 

 

For hydrogen: n = 5   n = 2  blue 

 n = 4   n = 2  green 

 n = 3   n = 2  red 

Overall 

 E = Efinal  Einitial =  1810178.2  ( 2

1

finaln   2

1

initialn ) J 



Q:  Minimum E to remove e in H atom from its ground state? 

 From n = 1    n = ∞ 
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